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SOLVE A QUADRATIC EQUATION BY FACTORING

Solve linear equation 3x+48=0
—48 48
3x = 48
X = -16

How do you solve 3x* + 5x + 2 = 0?7

This is called a quadratic equation.

A quadratic equation is a polynomial equation that contains the power 2 of a

variable as the highest power in the equation. The standard form of a quadratic
equation is 2 + bx + ¢ = 0, where a, b, c are real numbers and a # 0.

ie. x* 4+ 5x + 6 = 0 is in standard form.
Principle of Zero Products (ZPP)
Ifa-b=0thena=0orb=0.

If the product of two factors is zero then at least one of the factors must be zero.
The Zero Product Principle is used to solve a quadratic equation.

Solve: X +5x+6=0

Step 1. Factor the quadratic expression that equals 0. .
Step 2. Set each factor equal to 0.
Step 3. Solve the resulting equations to find each solution.
Step 4. Check each solution.
X+5x+6=0 The equation is in standard form
x+3)x+2)=0 Factor
x+3=00arx+2=0 Seteach factor equal to 0
-3 -3, __-2 -2
x =-3, x =-2 Solveeachequation
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1. Solve (y-3)y-5)=0
y-3=0o0ry-5=0
+3 +5 +5 +5
GG
2. Solve 7x2-3x =0
x(7x~3) =0
x=0o0r7x-3 =0
+3 43
GO
3. Solve X=12-x
¥-124+x=0
X+x-12=0

x-3)x+4)=0
x=3=0o0orx+4=0

+3 43, 4 4
G=D
Check! Ifx=3
32-—:i 12-3
9=9 v/

4. Solve (x4 3)(x-2) =50

X -2x+ 3x-6 =50
Z+x-56=0
x+ 8)x-7)=0

x+8=0o0or x-7=0
-8 -8 +7 +7
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.

Set each factor equal to 0

Solve each equation

The equation is in standard form
Factor

Set each factor equal to zero

Solve

The equation is not in standard form
Factor

Set each factor eciual to 0

Solve each equation for x

Ifx=-4
?
(4 = 12-(-4)
16 =16 ¢

Remove the parenthesis
Write in standard form
Factor

Set each factor equal to 0

Solve each equation for x
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